This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 9 - East Kilbride West

6,709

1,678

Stage 1

| Candidate Name | Affiliation | No. of Ballot Papers |
|-----------------|--|----------------------|
| Ian HARROW | Scottish Conservative and Unionist | 1,339 |
| Denise HAY | Scottish Family Party Pro-Family, Pro-Marriage, Pro-Life | 110 |
| Yvonne MACKAY | UKIP | 18 |
| Monique MCADAMS | Labour and Co-operative Party | 1,780 |
| Ali SALAMATI | Scottish National Party (SNP) | 1,031 |
| Craig SLOAN | Scottish National Party (SNP) | 1,041 |
| David WATSON | Independent | 1,248 |
| Huaiquan ZHANG | Scottish Liberal Democrats | 142 |
| | Total | 6,709 |

Candidate Monique MCADAMS Elected with 1,780 votes, being in excess of the quota of 1,678

This report contains the transfers results.

Stage 2 - Surplus of Monique MCADAMS

| Action | No. of Ballot Papers | Transfer Value | Votes Transferred |
|---------------------------------|-------------------------|----------------|-------------------|
| Transfer to Ian HARROW | 332 | 0.05730 | 19.02360 |
| Transfer to Denise HAY | 45 | 0.05730 | 2.57850 |
| Transfer to Ali SALAMATI | 141 | 0.05730 | 8.07930 |
| Transfer to Craig SLOAN | 131 | 0.05730 | 7.50630 |
| Transfer to David WATSON | 376 | 0.05730 | 21.54480 |
| Transfer to Huaiquan ZHANG | 289 | 0.05730 | 16.55970 |
| | | | |
| No further preference | 453 | 0.05730 | 25.95690 |
| Not transferred due to rounding | | | 0.00600 |
| | Total | | 102.00000 |

This report contains the transfers results.

Stage 3 - Exclusion of Yvonne MACKAY

| Action | No. of Ballot Papers | | Transfer Value | Votes Transferred |
|---------------------------------|-------------------------|---|----------------|-------------------|
| Transfer to Ian HARROW | - | 2 | 1.00000 | 2.00000 |
| Transfer to Denise HAY | , | 9 | 1.00000 | 9.00000 |
| Transfer to Ali SALAMATI | | 1 | 1.00000 | 1.00000 |
| Transfer to Craig SLOAN | | 1 | 1.00000 | 1.00000 |
| Transfer to David WATSON | | 1 | 1.00000 | 1.00000 |
| Transfer to Ian HARROW | | 1 | 0.05730 | 0.05730 |
| Transfer to Denise HAY | : | 2 | 0.05730 | 0.11460 |
| Transfer to David WATSON | ; | 3 | 0.05730 | 0.17190 |
| | | | | |
| No further preference | 4 | 4 | 1.00000 | 4.00000 |
| No further preference | | 6 | 0.05730 | 0.34380 |
| Not transferred due to rounding | | | | 0.00000 |
| | Total | | | 18.74490 |

This report contains the transfers results.

Stage 4 - Exclusion of Denise HAY

| Action | No. of Ballot Papers | Transfer Value | Votes Transferred |
|---------------------------------|-------------------------|----------------|-------------------|
| Transfer to Ian HARROW | 35 | 1.00000 | 35.00000 |
| Transfer to Ali SALAMATI | 11 | 1.00000 | 11.00000 |
| Transfer to Craig SLOAN | 4 | 1.00000 | 4.00000 |
| Transfer to David WATSON | 38 | 1.00000 | 38.00000 |
| Transfer to Huaiquan ZHANG | 7 | 1.00000 | 7.00000 |
| Transfer to Ian HARROW | 7 | 0.05730 | 0.40110 |
| Transfer to Ali SALAMATI | 2 | 0.05730 | 0.11460 |
| Transfer to Craig SLOAN | 5 | 0.05730 | 0.28650 |
| Transfer to David WATSON | 16 | 0.05730 | 0.91680 |
| Transfer to Huaiquan ZHANG | 7 | 0.05730 | 0.40110 |
| | | | |
| No further preference | 24 | 1.00000 | 24.00000 |
| No further preference | 10 | 0.05730 | 0.57300 |
| Not transferred due to rounding | | | 0.00000 |
| | Total | | 121.69310 |

This report contains the transfers results.

Stage 5 - Exclusion of Huaiquan ZHANG

| Action | No. of Ballot Papers | Transfer Value | Votes Transferred |
|---------------------------------|-------------------------|----------------|-------------------|
| Transfer to Ian HARROW | 28 | 1.00000 | 28.00000 |
| Transfer to Ali SALAMATI | 20 | 1.00000 | 20.00000 |
| Transfer to Craig SLOAN | 14 | 1.00000 | 14.00000 |
| Transfer to David WATSON | 51 | 1.00000 | 51.00000 |
| Transfer to Ian HARROW | 59 | 0.05730 | 3.38070 |
| Transfer to Ali SALAMATI | 28 | 0.05730 | 1.60440 |
| Transfer to Craig SLOAN | 9 | 0.05730 | 0.51570 |
| Transfer to David WATSON | 82 | 0.05730 | 4.69860 |
| | | | |
| No further preference | 36 | 1.00000 | 36.00000 |
| No further preference | 119 | 0.05730 | 6.81870 |
| Not transferred due to rounding | | | 0.00000 |
| | Total | | 166.01810 |

This report contains the transfers results.

Stage 6 - Exclusion of Craig SLOAN

1,068.30850

| Action | No. of Ballot Papers | Transfer Value | Votes Transferred |
|---------------------------------|-------------------------|----------------|-------------------|
| Transfer to Ian HARROW | 14 | 1.00000 | 14.00000 |
| Transfer to Ali SALAMATI | 886 | 1.00000 | 886.00000 |
| Transfer to David WATSON | 92 | 1.00000 | 92.00000 |
| Transfer to Ian HARROW | 8 | 0.05730 | 0.45840 |
| Transfer to Ali SALAMATI | 69 | 0.05730 | 3.95370 |
| Transfer to David WATSON | 19 | 0.05730 | 1.08870 |
| | | | |
| No further preference | 68 | 1.00000 | 68.00000 |
| No further preference | 49 | 0.05730 | 2.80770 |
| Not transferred due to rounding | | | 0.00000 |
| | Total | | 1,068.30850 |

This report contains the transfers results.

Stage 7 - Surplus of Ali SALAMATI

| Action | No. of Ballot Papers | Transfer Value | Votes Transferred |
|---------------------------------|-------------------------|----------------|-------------------|
| Transfer to Ian HARROW | 46 | 0.14507 | 6.67322 |
| Transfer to David WATSON | 666 | 0.14507 | 96.61662 |
| Transfer to Ian HARROW | 11 | 0.00831 | 0.09141 |
| Transfer to David WATSON | 63 | 0.00831 | 0.52353 |
| | | | |
| No further preference | 1,237 | 0.14507 | 179.45159 |
| No further preference | 166 | 0.00831 | 1.37946 |
| Not transferred due to rounding | | | 0.01617 |
| | Total | | 284.75200 |

This report contains the transfers results.

Stage 8 - Exclusion of Ian HARROW

1,448.08573

| Action | No. of Ballot Papers | Transfer Value | Votes Transferred |
|---------------------------------|-------------------------|----------------|-------------------|
| Transfer to David WATSON | 654 | 1.00000 | 654.00000 |
| Transfer to David WATSON | 17 | 0.14507 | 2.46619 |
| Transfer to David WATSON | 149 | 0.05730 | 8.53770 |
| Transfer to David WATSON | 7 | 0.00831 | 0.05817 |
| | | | |
| No further preference | 764 | 1.00000 | 764.00000 |
| No further preference | 29 | 0.14507 | 4.20703 |
| No further preference | 258 | 0.05730 | 14.78340 |
| No further preference | 4 | 0.00831 | 0.03324 |
| Not transferred due to rounding | | | 0.00000 |
| | Total | | 1,448.08573 |